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(Refer Slide Time: 00:18)

Let me take the example out here just move to shift the screen. Now let us look at it this

way. Suppose I am just going to take some numbers out there.

(Refer Slide Time: 00:28)



I have when I start that here I have a opening stock worth about 10 lakhs. During the 

year I make purchases worth about 75 lakhs, there is at the end of the year there is what 

is called as a closing stock which is worth about 5 lakhs; that means, what has happened?

Materials that is available for me for this year production is 75 plus 10 85 lakhs, I may 

with your not?

Student: Yes sir.

What is the amount of material that I have utilized? Say 85 minus 5 which is still remain-

ing; 80 lakhs is what I have utilized that is what will go in to their? 

Student: Expenditure.

Expenditure side and these 5 lakhs will what appear in your closing balance sheet in the

asset side. Am I  with you in this?

Student: Yes sir. Now it is clear.

Now it is clear, beautiful, go to the excel.

(Refer Slide Time: 01:23)



(Refer Slide Time: 01:38)

Clear this part of it? I have utilized the raw material. So, I have written out there raw ma-

terial 25 lakhs beautiful everything you have written out here, in the expenditure, go to

the expenditure, go to the expenditure have you written out there fine that part.

(Refer Slide Time: 01:47)

Now, you go to the profit. Profit is now go further down enough thank you. Profit before

tax is so, much, 20 percent of it is taxes; where 20 percent of its taxes that is assume that

is  obviously,  paid  because  it  is  to  be  paid  in  advance.  So,  that  part  of  it  whatever

4,10,008 will get reduced from your.



Student: Bank account.

Will get reduce some your what a bank account out there, have you done that?

Student: It’s showing loss sir.

Where is it showing loss?

Student: Minus.

Where is it?

Student: (Refer Time: 02:15).

So, when it showing loss there is a is there tax?

Student: (Refer Time: 02:21).

There is no tax out there purposely showing a loss perfectly all right. So, tax is 0 in that

particular case obviously.

Student: Sir how can you declare dividend on loss?

For me?

Student: How can you declare dividend?

You can there is possibility see that is what I am trying to say. You can, it is not because

what happens is, most of the time I may not have what is called as cash loss I may not

have a cash loss, I may not have a cash loss you could possibly declare because if you

look at the classic case was reliance long back then they started reliance petroleum that,

the IPO when the add in IPO collected money before even they could get an inch of land

that declared enough amount of dividend.

Because so, much of money I have invested it is earning something and expenditures are

there a lot of expenditures are there to leave a good taste I can also because in anticipa-

tion of the profits also I can give dividend out there in anticipation of the profits also I

can give dividends. It is not necessary that only when you make a profit you have to give

dividend number 1, number 2 it is not necessary that every time you make a profit you



are going to give dividend and in this particular case that is why I have carefully added

the statement, you read the statement it says 50 percent of the profit was declared as divi-

dend. In this case have you made a profit?

Student: No.

So, can you declare a dividend? That is why I have carefully termed it that way. I care-

fully ensure that I have termed it 50 percent of the profit I am not given an absolute fig-

ure. I have clearly 50 percent of profit is given as dividend. Now in this case I made a

loss no dividend. So, go to your capital out here.

(Refer Slide Time: 03:58)

Now, what is happening? Your P & L basically the entire loss is born by the capital

providers, the capital providers are given 1.2 crores as capital equity out there. What is it

worth now? It is worth only about 94 lakhs.

With you on this, I have not taken any dividend, I have not taken any taxes because there

is no tax that has been paid also that is one of the reason this statement was not there.

Am I with you on this? So, if you look at your asset and liability side of the balance sheet

hopefully it balances fine he is taken care of it he has done some gimmick and taken care

of it. 



Any way land component is land component whatever is a original cost of the purchase

of the land that is what will shown unless it is there is no depreciation; obviously,. So,

that is what you will basically record it is as one second am I with you.

Student: Yes sir what are (Refer Time: 04:52).

Sir the day on which the company own this the entity owns it, it becomes the property of

the entity inherited not inherited we do not care.

Student: Yeah that is fine.

Student: Then the (Refer Time: 04:59).

What is the.

Student: ( Refer Time: 05:03).

Move on to you are getting that somebody gifting you land, they are not giving you cash

they are giving it you in the form of land value of the land will become part of your re-

ceipt out there.

Student: Obviously.

Value of the land will become part of your receipt; obviously, right that is receipt in the

sense what? If he has given land is a form of capital then what happens? If he has joined

I have joined as a partner I am not bringing cash I am giving you land then what hap-

pens? It gets my capital. If somebody has donated land to you then what happens? Then

it is a value of the land is a receipt for you.

Student: Sir (Refer Time: 05:42) then the mean by (Refer Time: 05:43).

There are two aspects. Now there is I join your business as a partner I am not bringing

any cash in the form of in the form of capital, I am not bringing any cash I am bringing a

piece of land. So, what happens? Land is an asset when somebody contributes capital

what happens?

There is capital on the as a share holders equity plus liability and there is cash compo-

nent. In this case is since I am bring the value of the land value of the land will be the as-

set and my capital will be equal to the value of the land what I have contributed. I have



not contributed cash I brought it in kind that is all right. Somebody has donated land to

you now when somebody has donated land to you value of the land will be an asset, that

donation what you have received its a receipt it is what is called as an income, it is a

what is called as a revenue for you; obviously, right not profit I mean a income. It is a re-

ceipt for you. Am I with you sir? Now you are question on the building.

Student: Now the net value of (Refer Time: 06:46) what he ask.

That part has cleared.

Student: Second is net value of building become a new gross value next year?

No gross value always remains the original value. Next year what happens? Go to the

building thank you. Next year what happens? I will show three columns gross value of

the building whatever amount, accumulated depreciation this amount, depreciation for

the year further amount.

Student: And do we have to stop at 0?

You need not stop if for example, I have a plant and machinery and that machinery as a

scrape value of 30000, then I stop at when it reaches 3000 out there. That is depreciation

you decide depreciation over a period of 10 years, 5 years whatever it is. There are two

methods of depreciation now that I start a talking about depreciation. One we call it as a

straight line method, other what we normally call it WDV method Written Down Value

method or reducing balancing method very simple you do not know write it down you

can just remember it. Reducing balance method or written down value method supposing

I having a asset.

Switch the screen.



(Refer Slide Time: 08:11)

I have a asset out there the value of the asset n at the time of purchase that is here 0 is

about 10 lakhs. Now I say value of the asset is 10 lakhs I use it for 10 years depreciation

for 10 years now what I say straight line method I depreciate at the rate of 1 lakh per year

assuming there is no scrape value and what is called as a WDV method written down

value method there is certain difference out there, in a written down value method I will

say depreciation at the rate of 10 at the rate of 10 percent every year. When I say 10 per-

cent every year first year what is the depreciation? 10 percent of 10 lakhs 1 lakh.

Second year what is the value of the machinery beginning of the second year? The value

of the machinery is only 9 lakhs what is the depreciation? 10 percent of that 9 lakhs sec-

ond year depreciation is 90,000 third year what is the value of the machinery at the be-

ginning? 8.1 lakh what is the value of the depreciation? 81000 10 percent of that. So, that

what happens? Reducing balance on that reducing balance every year you are calculating

the depreciation of 10 percent.

So, in that case for the asset to reach the value of 0 would basically keep on infinity or

near all most infinity out there. These are the two basic methods of depreciation which

your tax laws allows you to follow that is all. There are few other methods we are even

touching upon all that am I with you on this? This gives you a fare idea about P & L and

balance sheet a P & L and balance sheet. Tomorrow in your organization when one of

your accounting or finance collogues comes and throws terms on some terms of balance



sheet and P & L you are not going to get scared that is the first thing. We are not going to

get scared you are going to stand up and say yes I am going to face it kind of a staff at

least you may not solve it that is ok, but at least you do not get scared day one that is the

basic purpose what we intend to achieve at the end of three classes I may with you on

this.

Student: Yes.

Yes sir.

Student: For any expenditure included in the P & L. You are reduced to a asset side.

Student: But the we are not touching anything in liability side how asset and liability?

If there is a what is called a as we are not touching on anything on liability what is hap-

pening? The result and profit is getting added where the result and profit is getting its ba-

sically resultant profit after the income is effecting only the. See let us take a very simple

sir examples; sir I receive an income of 50000 in cash what happens income of 50000

goes up? Cash of 50000 goes up on the asset side. I make an expenditure of 25000. Ex-

penditure goes down by 25,000 I write 25,000 my cash goes down by 25,000.

What is my asset balance? Only 25,000. What is my liability plus equity balance? The

resultant profit of that 50 minus 25 gets added where? Added to the capital out there

whatever is the capital. So, it takes care of it that is all yes sir come to you do not worry.

Student:  (Refer  Time:  11:20)  there  somethings  called  some  net  block  (Refer  Time:

11:22).

I said gross value net value gross block net block used that is all inter changeably. Gross

normally if you look at your balance sheet it will be gross block net block, I said gross

value net value that is all sir yes sir.

 Student: On the accumulating method of. For just (Refer Time: 11:38). I have taken the

depreciation to the consider (Refer Time: 11:42).

Agreed.

Student: Tax rebate.



Agreed.

Student: Next year in the accumulating method.

Accumulating is there is no accumulating is your accumulating depreciation every year.

For example, the same thing go to the excel the same thing if I do it next year accumu-

lated will be so, much.

I am not getting what depreciation for the year will be further 10 percent of this. What

will be expenditure for that year? The expenditure for the year is what I have utilized for

that particular year in the second year. What is that that I am utilizing? 10 percent of the

this is what I am utilizing only that what you will charge depreciation for the year is what

you will charge.

Student: (Refer Time: 12:20).

Sure sir.

Student: Addition of the capital. Is that the tax liability.

Which one? No addition of the capital is not supposing fresh capital gets in fused in the

sets of 28th transaction you can take another I do not write do not do it. Now further cap-

ital somebody there is a third partner who is joining brining in one crore as capital now

what is happening? Your capital increases by 1 crore your bank account increases by 1

crore, he brings 1crore in the form of a beautiful piece of land and joins as a partner what

happens? Capital increases by 1 crore, your asset in the form of land increases by 1 core

that is all nothing else will happen.

Student: Hope a company file who (Refer Time: 13:03). And company considered that is

(Refer Time: 13:09).

Sir if you have a value of the patent; normally when you file a patent you just show it

when you purchase a patent that is one it become an asset for you otherwise you have to

do the valuation of a patent that is a different ball game all together brand valuation,

patent valuation all that is a different ball game, we will do it quarter 5 if you take valua-

tion is a course.

Student: But (Refer Time: 13:26) still (Refer Time: 13:28).



It will come in the asset side you I buy up a patent imagine I am buying a patent paying

some amount. So, what is happening? My cash is going down my patent which is an as-

set because nobody else can use it,  I  am only I have the exclusive right for which I

bought I use it as a asset out there. Patent valid for a say imagine that has life for a an-

other 5 years. So, what happens? Every year one fifth one tenth whatever one twentieth

of it I am writing off as an expenditure patent, I am utilized for this particular area patent

what is called is amortized this particular year that is all.

Student: Second is a what is tax rebate?

Tax rebate is normally a tax holiday which you will get for example, imagine you are

setting up the manufacturing facility in Arunachal Pradesh a car automobile assembly

unit in Arunachal Pradesh, in the whole process what is happening you are providing em-

ployment to so, many people.

Because you are providing employment to so, many people and development of the state

is taking place the state will give you tax rebate for some years some amount; you will

say 5 year tax holiday. So, what happens? 5 year whatever profit you make you do not

pay tax or they will say 5 year deferred tax holiday; that means, 5 years you calculate the

tax you do not pay in the first 5 years you pay in on the 6th years onwards. Not only the

6 year tax, but also from the previous taxes out there.

Student: Sir its applicable only to company not individuals?

Individual not sir.

Student:.

Sir please keep individual always separate personal taxation is very different.

Student: Sir what is sundry debtors?

Debtors accumulate  totally  right I this  particular  company I said purchases are made

some 23 times, imagine 23 times I am buying from 23 different vendors when I write it I

cannot write the names of all the 23 vendors out there. So, I accumulate it and write it as

sundry debtors sundry sundry is a simple English word.



Student: (Refer Time: 15:22) give me examples of inherited land donated by a particular

(Refer Time: 15:23).

 As a inherited non inherited let us not worry about it donation is keep, we keep let there

is a.

Student: Say that land value is very high. 

Student: So, I get it.

Student: But it will come in profit side because its an income.

Of course.

Student: So, if there is way where I can show it in a different way by tax planning.

Tax planning keep it aside.

Student: No like for the company is there a way (Refer Time: 15:43).

There are many multiple ways of dealing with it sir I can I will not show it as donation I

will show it is a lease various options are there let us not get it in to all that.

Student: Ok.

See I that is why I told you, the last class I will spend on accounting fraud what all you

can do, what all you can do, I am very sure none of you are accountants out here (Refer

Time: 16:04) Hruthik Pratheeksha right you are also not an accountant right beautiful

none ever accountant. So, you will give you enough methods, where in. sees I told you

what is balance sheet the other day right. So, that is it.

Student: Export transactions. We are assuming 40 percent 50 percent for the currency

also changes.

Of course there is always FOREX risk that you hates it and various things FOREX losses

also you write FOREX profit you write. Supposing I say when I sell the goods I invoiced

it at 100 dollars. When the dollar price is 60 which is not going to be there in your future

at least why? When the payment comes dollar price is 75, I gain 15 rupees on the dollar

that is shown as profit on FOREX transactions or gain on FOREX transactions. Now



only there is a treasury department is takes care of it the job of a treasury is a basically to

park the money and hits the risk etc.

So, let us not even get in to as of now keep it as simple as this just let us keep it life is

simple let us keep it simple. Agreed? At the end of every year whatever amount I have

spent in the on what is called on erecting the plant out there, that will come in the asset

side as capital work in progress. That is a work in progress, but that is a capital work that

is a major building capital work in progress 

Student: And the.

If the what is the interest though capital work in progress is the value that you are spent

on that particular asset.

Student: Ok.

Whatever interest payable on the borrowing that you have made will be shown as a lia-

bility, interest payable, interest accumulated, interest accumulated as a liability.

Student: Ok that cannot be capitalized.

If you that is it can be capitalized in the sense it can be added to the loan itself it cannot

be come on the asset side what happens? It will get added. See these two are different I

have borrowed 50,000 as of now I spend only 25,000 my capital work in progress is

25,000 my borrowing is 50,000 the other 25,000 will always be in the form of cash out

there.

Now, there is an interest on that 50,000 10 percent at the end of the year then what hap-

pens? 10 percent will be an expenditure and then the or in or I will show it as a interest

due 10 percent on the liability side if or else I what I will do? I will add that interest to

the.

Student: (Refer Time: 18:17).

Basically the loan that I have to pay in the process out there. Madam in your always your

if for companies you are to you have to anticipate what is the earning that you are going

to make and you got a planned and normally companies would have planned for the next



3 to 5 years, you can always claim return you can always claim return that is all very

simple.

Student: Returns.

 Need not necessary what is what is called as if you are not if you are basically shown as

an expenditure then basically what happens is you are got the benefit of that. So, next

year when you receive it, you will have to show it is a tax returns that is in the revenue

part of it.

Student: No charges.

(Refer Slide Time: 19:06)

No paid up capital is different sir, paid up capital is a money that you pay I will explain

that.


